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— =&t 50,102,000 | 12,327,223 | 62,429,223 | 50,005,976 12,423,247 24.8
HAl=E 22,944,039 367 | 22,944,406 | 22,609,633 334,773 15
ERBREARKRY = 11,343,637 367 | 11,344,004 | 11,203,479 140,525 1.3
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EM NSRRI RE 21,523 21,523 17,978 3,545 19.7
mREBERIRE 12,543 12,543 12,204 339 2.8
ITXREAMSEREFHIRET 334,264 334,264 12,233 322,031 | 2,632.5
B ERSFIRE 24,353 24,353 24,681 A328| A13
KEEERE 3,173,022 3,173,022 | 2,691,636 481,386 17.9
T(RAKEEERE 250,140 250,140 236,689 13,451 5.7
TKESERE 9,479,145 9,479,145 | 9,040,915 438,230 48
a H 85,948,346 | 12,327,590 | 98,275,936 | 84,584,849 13,691,087 16.2




